# Neutrosophic Sets and Systems

Volume 58

Article 32

10-5-2023

# Approximations of interval neutrosophic hyperideals in semihyper-rings

P. Dhanalakshmi

Follow this and additional works at: https://digitalrepository.unm.edu/nss\_journal

# **Recommended Citation**

Dhanalakshmi, P.. "Approximations of interval neutrosophic hyperideals in semi-hyper-rings." *Neutrosophic Sets and Systems* 58, 1 (2023). https://digitalrepository.unm.edu/nss\_journal/vol58/iss1/32

This Article is brought to you for free and open access by UNM Digital Repository. It has been accepted for inclusion in Neutrosophic Sets and Systems by an authorized editor of UNM Digital Repository. For more information, please contact disc@unm.edu.



University of New Mexico



# Approximations of interval neutrosophic hyperideals in semi-hyper-rings

P. Dhanalakshmi<sup>1</sup>

<sup>1</sup>Department of Mathematics, C.KNC College for Women , Cuddalore, India-608002; vpdhanam83@gmail.com \*Correspondence: vpdhanam83@gmail.com

**Abstract**. This paper deals with the combination of rough sets and interval neutrosophic sets. We introduce the interval neutrosophic hyper-ideals in semi-hyper-rings. Also we study the rough interval neutrosophic hyper-ideals in semi-hyper-rings.

**Keywords:** Rough sets, neutrosophic sets, interval neutrosophic sets, rough interval neutrosophic sets, semi-hyper-rings.

#### 1. Introduction

In 1982, Pawlak [11] introduced the concept of rough set, as a formal tool for modeling and processing incomplete information in information systems. The basic idea of rough set is based upon the approximation of sets by a pair of sets known as the lower approximation and the upper approximation of a set. The concept of a fuzzy set, introduced by Zadeh [24], provides a natural framework for generalizing some of the notions of classical algebraic structures. As a generalization of fuzzy sets, the intuitionistic fuzzy set was introduced by Atanassov [1] in 1986. One of the interesting generalizations of the theory of fuzzy sets and intuitionistic fuzzy sets is the theory of neutrosophic sets introduced by F. Smarandache [12]. The term neutrosophy means knowledge of neutral thought and this neutral represents the main distinction between fuzzy and intuitionistic fuzzy logic and set. It is a logic in which each proposition is estimated to have a degree of truth, a degree of indeterminacy and a degree of falsity. Unlike in intuitionistic fuzzy sets, where the incorporated uncertainty is dependent of the degree of belongingness and degree of non-belongingness, here the uncertainty present, i.e. the indeterminacy factor, is independent of truth and falsity values. Neutrosophic sets are indeed more general than Intuitionistic fuzzy set as there are no constraints between the degree of

P. Dhanalakshmi, Approximations of interval neutrosophic hyperideals in semi-hyper-rings

truth, degree of inde-terminacy and degree of falsity. All these degrees can individually vary within [0, 1]. The theories of neutrosophic set have achieved great success in various areas. Recently many researchers applied the notion of fuzzy neutrosophic sets to several algebraic structures. Subha et al. [17–23] studied the algebraic structures of interval rough fuzzy sets. In this paper we studied the algebraic properties of rough interval neutrosophic sets.

### 2. Preliminaries

This section we present some basic definitions related to this work.

**Definition 2.1.** [2] Let W be a nonempty set, and let P(W) be the set of all nonempty subsets of W. A hyperoperation on W is a map  $\circ : W \times W \leftarrow P(W)$ , and the couple  $(W, \circ)$ is called a hypergrupoid. If A and B are nonempty subsets of W, then we denote,

$$A \circ B = \bigcup_{a \in A, b \in B} a \circ b \ x \circ A = \{x\} \circ A$$
$$A \circ x = A \circ \{x\}$$

**Definition 2.2.** [2] A hypergrupoid  $(W, \circ)$  is called a hyper-semi-group if for all x, y and z of W we have  $(x \circ y) \circ z = x \circ (y \circ z)$ .

That is,  $\bigcup_{u \in x \circ y} u \circ z = \bigcup_{v \in y \circ z} x \circ v$ 

**Definition 2.3.** [2] A is an algebraic structure (W, +, .) which satisfies the following conditions.

(i) (W, +) is a commutative semi-hyper-group,

(a) (a+b) + c = a + (y+z) (b) a+b = b+a, for all  $a, b, c \in W$ .

(ii) (H, .) is a semi-hyper-group,

(c) (a.b).c = a.(b.c), for all  $a, b, c \in W$ .

(iii) The multiplication is distributive with respect to hyperroperation +,

- (d) a.(b+c) = a.b + a.c
- (e) (a+b).c = a.c + b.c, for all  $a, b, c \in W$ .

**Definition 2.4.** [2] A nonempty subset A of a hyper-semi-ring (W, +, .) is called sub-hypersemi-ring if  $x + y \subseteq A$  and  $x \cdot y \subseteq A$  for all  $x, y \in A$ .

**Definition 2.5.** [2] A left(right) hyper-ideal of a hyper-semi-ring W is a nonempty subset I of W satisfying the following:

(i)  $x + y \subseteq I$ , for all  $x, y \in I$ .

(ii)  $x.a \subseteq I(a.x \subseteq I)$ , for all  $a \in I$  and  $x \in W$ .

**Definition 2.6.** Let R be a commutative semihypergroup and  $\Gamma$  be a commutative group. Then R is called a  $\Gamma$ -semihyperring if there exists a map  $R\Gamma R \to P(R)(a, \alpha, b) \to a\alpha b)$ 

 $\forall a, b \in R, \alpha \in \Gamma$  and P(R) the set of all non-empty subsets of R, satisfying the following conditions: (i)  $(a + b)\alpha c = a\alpha c + b\alpha c$ , (ii) $a\alpha(b + c) = a\alpha b + a\alpha c$ , (iii)  $a(\alpha + \beta)b = a\alpha b + a\beta b$ , (iv)  $a\alpha(b\beta c) = (a\alpha b)\beta c$  $\forall a, b, c \in R$  and  $\forall \alpha, \beta \in \Gamma$ 

We say that R is a  $\Gamma$ -semihyperring with zero, if there exists  $0 \in R$  such that  $a \in a + 0$  and  $0 \in 0 \alpha a, 0 \in a \alpha 0$  for all  $a \in R$  and  $\alpha \in \Gamma$ 

**Definition 2.7.** [10] Let W be the universe. The neutrosophic set is an object having the form  $A = \{(e, l_t(e), l_i(e), l_f(e)), e \in W\}$ where the functions  $l_t, l_i, l_f : W \longrightarrow [0, 1]$  define respectively the truth, the degree of indeterminacy and the degree of non-membership of the element  $e \in W$  to the set A with the condition  $0 \le l_t + l_i + l_q \le 3$ 

#### 3. Interval neutrosophic hyper-ideals(INHI) in semi-hyper-rings

In this section we studied the concept of INLHI in semi-hyper-ring W. Also we proved nonempty intersection of INLHI is also an INLHI. More over we discuss the pre image and image of an INLHI of W is also an INLHI. At last we proved the cartesian product of two INLHI is also an INLHI.

**Definition 3.1.** A nonempty IN subset l of W is said to be an INLHI of W if the following conditions are holds:

$$\begin{array}{l} (\mathrm{C1}) & \bigwedge_{e \in s+q} l_t(e) \geq l_t(s) \wedge l_t(q) \\ (\mathrm{C2}) & \bigwedge_{e \in s+q} l_i(e) \geq \frac{l_i(s) + l_i(q)}{2} \\ (\mathrm{C3}) & \bigvee_{e \in s+q} l_f(e) \leq l_t(s) \vee l_t(q) \\ (\mathrm{C4}) & \bigwedge_{e \in sq} l_t(e) \geq l_t(q) \\ (\mathrm{C5}) & \bigwedge_{e \in sq} l_i(e) \geq l_i(q) \\ (\mathrm{C6}) & \bigvee_{e \in sq} l_f(e) \leq l_f(q) \text{ for all } e, s, q \in W \end{array}$$

**Definition 3.2.** A nonempty IN subset l of W is said to be an INRHI of W if the conditions

(C1) (C2) and (C3) holds. Moreover (C7)  $\bigwedge_{e \in sq} l_t(e) \ge l_t(s)$ (C8)  $\bigwedge_{e \in sq} l_i(e) \ge l_i(s)$ (C9)  $\bigvee_{e \in sq} l_f(e) \le l_f(s)$  for all  $e, s, q \in W$ 

**Definition 3.3.** Let l and m be any two IN subsets of W. Then  $l \cap m$  defined by  $l_t \cap m_t(e) = l_t \wedge m_t, \ l_i \cap m_i(e) = l_i \wedge m_i \ \text{and} \ l_f \cap m_f(e) = l_f \vee m_f \ \text{for all} \ e \in W$ 

**Proposition 3.4.** A nonempty intersection of an INLHI is an INLHI.

Assume that  $\{l^k : k \in I\}$  be a family of an *INLHI* of *W*. Let  $r, s \in W$ . Proof : Then

$$\bigwedge_{e \in r+s} (\bigcap_{k \in I} l_t^k)(e) = \bigwedge_{e \in r+s} \inf_{k \in I} l_t^k(e) \ge \inf_{k \in I} \left( l_t^k(r) \wedge l_t^k(s) \right) = \inf_{k \in I} l_t^k(r) \wedge \inf_{k \in I} l_t^k(s)$$

$$= \bigcap_{k \in I} l_t^k(r) \wedge \bigcap_{k \in I} l_t^k(s)$$
and

and

 $\bigwedge_{e \in r+s} (\bigcap_{k \in I} l_i^k)(e) = \bigwedge_{e \in r+s} \inf_{k \in I} l_i^k(e) \ge \inf_{k \in I} \left[ \frac{l_i^k(r) + l_i^k(s)}{2} \right] = \frac{\inf_{k \in I} l_i^k(r) + \inf_{k \in I} l_i^k(s)}{2} = \frac{\bigcap_{k \in I} l_i^k(r) + \bigcap_{k \in I} l_i^k(s)}{2}$ also

$$\bigvee_{e \in r+s} (\bigcap_{k \in I} l_f^k)(e) = \bigvee_{e \in r+s} \sup_{k \in I} l_f^k(e) \le \sup_{k \in I} \left( l_f^k(r) \lor l_f^k(s) \right) = \sup_{k \in I} l_f^k(r) \lor \sup_{k \in I} l_f^k(s)$$
$$= \bigcap_{k \in I} l_f^k(r) \lor \bigcap_{k \in I} l_f^k(s)$$

#### Moreover

 $\bigwedge_{e \in rs} (\bigcap_{k \in I} l_t^k)(e) = \bigwedge_{e \in r+s} \inf_{k \in I} l_t^k(e) \ge \inf_{k \in I} l_t^k(s) = \bigcap_{k \in I} l_t^k(s)$ Similarly we can prove for  $\bigwedge_{e \in rs} (\bigcap_{k \in I} l_i^k)(e) \geq \bigcap_{k \in I} l_i^k(s) \text{ and } \bigvee_{e \in rs} (\bigcap_{k \in I} l_f^k)(e) \leq \bigcap_{k \in I} l_f^k(s)$ 

Hence the theorem.

**Definition 3.5.** Let  $\sigma: F \longrightarrow E$  be a mapping from SHR W to E. Then  $\sigma$  is said to be homomorphism if

(1) 
$$\sigma(e+s) \subseteq \sigma(e) + \sigma(s)$$

(2) 
$$\sigma(es) \subseteq \sigma(e)\sigma(s)$$

(3)  $\sigma(0_F) = 0_E$  for all  $e, s \in W$ 

where  $0_F$  and  $0_E$  are zeros of F and E respectively.

**Proposition 3.6.** Let  $\sigma: F \longrightarrow E$  be a homomorphism of semi-hyper-ring. If l is an INLHI of W. Then pre-image of l is an INLHI of W.

**Proof**: Since  $\sigma: F \longrightarrow E$  be a homomorphism of W. Also since l is an INLHI of W and  $u, e, k \in W$ .

$$\bigwedge_{u \in e+k} \sigma^{-1}(l_t)(u) = \bigwedge_{\substack{t \in e+k \\ \sigma(u) \subseteq \sigma(e) + \sigma(k)}} l_t(\sigma(u))$$

$$\geq l_t(\sigma(e)) \wedge l_t(\sigma(k))$$
  
=  $\sigma^{-1}(l_t)(e) \wedge \sigma^{-1}(l_t)(k)$ 

Also

$$\bigwedge_{u \in e+k} \sigma^{-1}(l_i)(u) = \bigwedge_{t \in e+k} l_i(\sigma(u))$$
$$= \bigwedge_{\sigma(u) \subseteq \sigma(e) + \sigma(k)} l_i(\sigma(u))$$
$$\ge l_i(\sigma(e)) \wedge l_i(\sigma(k))$$
$$= \sigma^{-1}(l_i)(e) \wedge \sigma^{-1}(l_i)(k)$$

Moreover

$$\bigvee_{u \in e+k} \sigma^{-1}(l_f)(u) = \bigvee_{t \in e+k} l_f(\sigma(u))$$
$$= \bigvee_{\sigma(u) \subseteq \sigma(e) + \sigma(k) \atop \leq l_f(\sigma(e)) \lor l_i(\sigma(k))$$
$$= \sigma^{-1}(l_f)(e) \lor \sigma^{-1}(l_f)(k)$$

Again

$$\bigwedge_{u \in ek} \sigma^{-1}(l_t)(u) = \bigwedge_{t \in ek} l_t(\sigma(u))$$
$$= \bigwedge_{\sigma(u) \subseteq \sigma(e)\sigma(k)} l_t(\sigma(u))$$
$$\ge l_t(\sigma(k)) = \sigma^{-1}(l_t)(k)$$

 $\mathbf{Also}$ 

$$\bigwedge_{u \in ek} \sigma^{-1}(l_i)(u) = \bigwedge_{\substack{t \in ek \\ \sigma(u) \subseteq \sigma(e)\sigma(k)}} l_i(\sigma(u))$$
$$\geq l_i(\sigma(k)) = \sigma^{-1}(l_i)(k)$$

and

$$\bigvee_{u \in ek} \sigma^{-1}(l_f)(u) = \bigvee_{\substack{t \in ek \\ \sigma(u) \subseteq \sigma(e)\sigma(k)}} l_f(\sigma(u))$$
$$= \bigvee_{\substack{\sigma(u) \subseteq \sigma(e)\sigma(k) \\ \leq l_f(\sigma(k)) = \sigma^{-1}(l_f)(k)}$$

Hence pre-image of l is an INLHI of W.

**Proposition 3.7.** Let  $\sigma : F \longrightarrow E$  be a surjective homomorphism of semi-hyper-ring. If l is an INLHI of W. Then image of l is an INLHI of W.

**Proof :** Since l is an INLHI of W and  $u_0, e_0, k_0 \in W$ . Then

$$\bigwedge_{u_0 \in e_0 + k_0} \sigma(l_t)(u_0) = \bigwedge_{u_0 \in e_0 + k_0} \sup_{u \in \sigma^{-1}(u_0)} l_t(u)$$

$$= \bigwedge_{u_0 \in e_0 + k_0} \sup_{e \in \sigma^{-1}(e_0), k \in \sigma^{-1}(k_0)} l_t(u)$$

$$\geq \sup_{e \in \sigma^{-1}(e_0), k \in \sigma^{-1}(k_0)} \{l_t(u) \lor l_t(k)\}$$

$$= \sup_{e \in \sigma^{-1}(e_0)} l_t(u) \land \sup_{k \in \sigma^{-1}(k_0)} l_t(k)$$

$$= \sigma(l_t)(e_0) \wedge \sigma(l_t)(k_0)$$

 $\mathbf{Also}$ 

$$\bigwedge_{u_0 \in e_0 + k_0} \sigma(l_i)(u_0) = \bigwedge_{u_0 \in e_0 + k_0} \sup_{u \in \sigma^{-1}(u_0)} l_i(\sigma(u)) \\
= \bigwedge_{u_0 \in e_0 + k_0} \sup_{e \in \sigma^{-1}(e_0), k \in \sigma^{-1}(k_0)} l_i(\sigma(u)) \\
\ge \sup_{e \in \sigma^{-1}(e_0), k \in \sigma^{-1}(k_0)} \frac{l_i(e) + l_i(k)}{2} \\
= 1/2 \left[ \sup_{e \in \sigma^{-1}(e_0)} l_i(u) + \sup_{k \in \sigma^{-1}(k_0)} l_i(k) \right] \\
= 1/2 \left[ \sigma(l_i)(e_0) + \sigma(l_i)(k_0) \right]$$

$$\bigvee_{u_0 \in e_0 + k_0} \sigma(l_f)(u_0) = \bigvee_{\substack{u_0 \in e_0 + k_0 \ u \in \sigma^{-1}(u_0)}} \inf_{l_f(u)} l_f(u)$$

$$= \bigvee_{\substack{u_0 \in e_0 + k_0 \ e \in \sigma^{-1}(e_0), k \in \sigma^{-1}(k_0)}} \inf_{\substack{u_0 \in e_0 + k_0 \ e \in \sigma^{-1}(e_0), k \in \sigma^{-1}(k_0)}} \{l_t(e) \lor l_t(k)\}$$

$$= \inf_{e \in \sigma^{-1}(e_0)} l_t(e) \lor \inf_{k \in \sigma^{-1}(k_0)} l_t(k)$$

$$= \sigma(l_t)(e_0) \lor \sigma(l_t)(k_0)$$

## Moreover

$$\begin{split} &\bigwedge_{u_0 \in e_0 k_0} \sigma(l_t)(u_0) = \bigwedge_{u_0 \in e_0 k_0} \sup_{u \in \sigma^{-1}(u_0)} l_t(u) \\ &= \bigwedge_{u_0 \in e_0 + k_0} \sup_{e \in \sigma^{-1}(e_0), k \in \sigma^{-1}(k_0)} l_t(u) \\ &\geq \sup_{k \in \sigma^{-1}(k_0)} l_t(k) \\ &= \sigma(l_t)(k_0) \end{split}$$
$$&\bigwedge_{u_0 \in e_0 k_0} \sigma(l_i)(u_0) = \bigwedge_{u_0 \in e_0 + k_0} \sup_{e \in \sigma^{-1}(u_0)} l_i(u) \\ &= \bigwedge_{u_0 \in e_0 + k_0} \sup_{e \in \sigma^{-1}(e_0), k \in \sigma^{-1}(k_0)} l_i(u) \\ &\geq \sup_{k \in \sigma^{-1}(k_0)} l_i(k) \\ &= \sigma(l_i)(k_0) \end{split}$$

 $\mathbf{Also}$ 

$$\bigvee_{u_0 \in e_0 k_0} \sigma(l_f)(u_0) = \bigvee_{\substack{u_0 \in e_0 k_0 \ u \in \sigma^{-1}(u_0)}} \inf_{\substack{u_0 \in e_0 + k_0 \ e \in \sigma^{-1}(e_0), k \in \sigma^{-1}(k_0) \\ \leq \inf_{k \in \sigma^{-1}(k_0)}} \inf_{l_f(k)} l_f(u)$$

**Definition 3.8.** Cartesian product of two IN subsets l and m of W is defined by,

 $(l_t \times m_t)(e,k) = l_t \wedge m_t$ 

 $(l_i \times m_i)(e,k) = \frac{l_i + m_i}{2}$ 

 $(l_f\times m_f)(e,k)=l_f\vee m_f$  for all  $e,k\in W$ 

Theorem 3.9. Cartesian product of two INLHI is also an INLHI.

**Proof:** Let l and m be two INLHI of W. Let  $(e_1, e_2), (k_1, k_2), (u_1, u_2) \in W \times W$ . Then

$$\bigwedge_{\substack{(e_1,e_2)\in(k_1,k_2)+(u_1,u_2)}} (l_t \times m_t)(e_1,e_2) = \bigwedge_{\substack{e_1\in(k_1+u_1),e_2\in(k_2+u_2)\\e_1\in(k_1+u_1),e_2\in(k_2+u_2)}} (l_t \times m_t)(e_1,e_2) \\
= \bigwedge_{\substack{e_1\in(k_1+u_1),e_2\in(k_2+u_2)\\e_1\in(k_1+u_1),e_2\in(k_2+u_2)}} (l_t(e_1) \wedge m_t(e_2)) \\
\ge \min\left\{ (l_t(k_1) \wedge l_t(u_1)), (m_t(k_1) \wedge m_t(u_1)) \right\} \\
= \min\left\{ (l_t(k_1) \wedge l_t(k_2)), (m_t(u_1) \wedge m_t(u_2)) \right\} \\
= \min\left\{ (l_t \times m_t)(k_1,k_2), (l_t \times m_t)(u_1,u_2) \right\}$$

 $\mathbf{Also}$ 

$$\bigwedge_{\substack{(e_1,e_2)\in(k_1,k_2)+(u_1,u_2)}} (l_i \times m_i)(e_1,e_2) = \bigwedge_{\substack{e_1\in(k_1+u_1),e_2\in(k_2+u_2)}} (l_i \times m_i)(e_1,e_2) \\
= \bigwedge_{\substack{e_1\in(k_1+u_1),e_2\in(k_2+u_2)}} \frac{l_i(e_1)+m_i(e_2)}{2} \\
\geq 1/2 \left[ \frac{l_i(k_1)+m_i(u_1)}{2} + \frac{l_i(k_2)+m_i(u_2)}{2} \right] \\
= 1/2 \left[ \frac{l_i(k_1)+m_i(k_2)}{2} + \frac{l_i(u_1)+m_i(u_2)}{2} \right] \\
= 1/2 \left[ (l_i \times m_i)(k_1,k_2) + (l_i \times m_i)(u_1,u_2) \right]$$

and

$$\bigvee_{\substack{(e_1,e_2)\in(k_1,k_2)+(u_1,u_2)}} (l_f \times m_f)(e_1,e_2) = \bigvee_{\substack{e_1\in(k_1+u_1),e_2\in(k_2+u_2)}} (l_f \times m_f)(e_1,e_2)$$
$$= \bigvee_{\substack{e_1\in(k_1+u_1),e_2\in(k_2+u_2)}} (l_t(e_1) \vee m_t(e_2))$$
$$\leq max \left\{ (l_t(k_1) \vee l_t(u_1)), (m_t(k_1) \vee m_t(u_1)) \right\}$$
$$= max \left\{ (l_t(k_1) \vee l_t(k_2)), (m_t(u_1) \vee m_t(u_2)) \right\}$$
$$= max \left\{ (l_t \times m_t)(k_1,k_2), (l_t \times m_t)(u_1,u_2) \right\}$$

## In similar manner we prove

$$\bigwedge_{\substack{(e_1,e_2)\in(k_1,k_2)(u_1,u_2)}} (l_t \times m_t)(e_1,e_2) = \bigwedge_{\substack{e_1\in(k_1u_1),e_2\in(k_2u_2)\\e_1\in(k_1u_1),e_2\in(k_2u_2)}} (l_t \times m_t)(e_1,e_2)$$
$$= \bigwedge_{\substack{e_1\in(k_1u_1),e_2\in(k_2u_2)\\e_1\in(k_1u_1),e_2\in(k_2u_2)}} (l_t(e_1) \wedge m_t(e_2))$$
$$\ge \min\{l_t(u_1) \wedge m_t(u_2)\}$$
$$= \min\{(l_t \times m_t)(u_1,u_2)\}$$

also

$$\bigwedge_{\substack{(e_1,e_2)\in(k_1,k_2)(u_1,u_2)}} (l_i \times m_i)(e_1,e_2) = \bigwedge_{\substack{e_1\in(k_1u_1),e_2\in(k_2u_2)}} (l_i \times m_i)(e_1,e_2)$$
$$= \bigwedge_{\substack{e_1\in(k_1u_1),e_2\in(k_2u_2)}} \frac{l_i(e_1)+m_i(e_2)}{2}$$
$$\ge \frac{l_i(u_1)+m_i(u_2)}{2} = (l_i \times m_i)(u_1,u_2)$$

#### Moreover

$$\bigvee_{\substack{(e_1,e_2)\in(k_1,k_2)(u_1,u_2)}} (l_f \times m_f)(e_1,e_2) = \bigvee_{\substack{e_1\in(k_1u_1),e_2\in(k_2u_2)}} (l_f \times m_f)(e_1,e_2)$$
$$= \bigvee_{\substack{e_1\in(k_1+u_1),e_2\in(k_2+u_2)}} (l_t(e_1) \vee m_t(e_2))$$
$$\leq l_f(u_1) \vee m_f(u_2) = (l_f \times m_f)(u_1,u_2)$$

### 4. Rough interval neutrosophic hyper-ideal (RINHI) in semihyperrings

This section deals with the new concept RINHI of semihyperrings. Let  $\phi$  be a congruence relation on W.

 $\phi$  is an equivalence relation on W such that  $(e,s) \in \phi \implies (ew, sw) \in \phi$  and  $(we, ws) \in \phi$  for every  $w \in W$ .

**Definition 4.1.** An *INHI* is called an  $\phi$ -lower(upper)*INHI* of W if its lower(upper) approximation is also an *INHI*.

**Definition 4.2.** An *INHI* is said to be an *RINHI* if it is both  $\phi$ -lower and  $\phi$ -upper *INHI* of *W*.

**Theorem 4.3.** Let *l* be an INHI of *W*. Then *l* is an RINHI.

**Proof:** Since *l* is an *INHI* of *W*. Let  $e, s, q \in W$  then

$$\begin{split} \bigwedge_{e \in s+q} \overline{\phi}(l_t)(e) &= \bigwedge_{e \in s+q} \bigvee_{r \in [s+q]_{\phi}} l_t(r) \\ &\geq \bigwedge_{e \in s+q} \bigvee_{r \in [s]_{\phi}+[q]_{\phi}} l_t(r) \\ &\geq \bigwedge_{r \in i+j} \bigvee_{i+j \subseteq [s]_{\phi}+[q]_{\phi}} l_t(r) \\ &= \bigvee_{i \in [s]_{\phi}, j \in [q]_{\phi}} \bigwedge_{r \in i+j} l_t(r) \\ &\geq \bigvee_{i \in [s]_{\phi}, j \in [q]_{\phi}} \{l_t(i) \wedge l_t(j)\} \\ &= \bigvee_{i \in [s]_{\phi}} l_t(s) \wedge \bigvee_{j \in [q]_{\phi}} l_t(q) \\ &= \overline{\phi}(l_t)(s) \wedge \overline{\phi}(l_t)(q) \end{split}$$

and

$$\bigwedge_{e \in s+q} \overline{\phi}(l_i)(e) = \bigwedge_{e \in s+q} \bigwedge_{r \in [s+q]_{\phi}} l_i(r)$$

$$\geq \bigwedge_{e \in s+q} \bigwedge_{r \in [s]_{\phi} + [q]_{\phi}} l_i(r)$$

$$\geq \bigwedge_{r \in i+j} \bigwedge_{i+j \subseteq [s]_{\phi} + [q]_{\phi}} l_i(r)$$

$$= \bigwedge_{i \in [s]_{\phi}, j \in [q]_{\phi}} \bigwedge_{r \in i+j} l_i(r)$$

$$\geq \bigwedge_{i \in [s]_{\phi}, j \in [q]_{\phi}} \left[\frac{l_i(i) + l_i(j)}{2}\right]$$

$$= \frac{1}{2} \left[\bigwedge_{i \in [s]_{\phi}} l_i(i) + \bigwedge_{j \in [q]_{\phi}} l_i(j)\right]$$

$$=\frac{1}{2}\left[\overline{\phi}(l_i)(s) + \overline{\phi}(l_i)(q)\right]$$

also

$$\bigvee_{e \in s+q} \phi(l_f)(e) = \bigvee_{e \in s+q} \bigvee_{r \in [s+q]_{\phi}} l_f(r)$$

$$\leq \bigvee_{e \in s+q} \bigvee_{r \in [s]_{\phi}+[q]_{\phi}} l_f(r)$$

$$\leq \bigvee_{r \in i+j} \bigvee_{i+j \subseteq [s]_{\phi}+[q]_{\phi}} l_f(r)$$

$$= \bigvee_{i \in [s]_{\phi}, j \in [q]_{\phi}} \bigvee_{r \in i+j} l_f(r)$$

$$\leq \bigvee_{i \in [s]_{\phi}, j \in [q]_{\phi}} \{l_f(i) \lor l_f(j)\}$$

$$= \bigvee_{i \in [s]_{\phi}} l_f(s) \lor \bigvee_{j \in [q]_{\phi}} l_f(q)$$

$$= \overline{\phi}(l_f)(s) \lor \overline{\phi}(l_f)(q)$$

#### Moreover

$$\bigwedge_{e \in sq} \overline{\phi}(l_t)(e) = \bigwedge_{e \in sq} \bigvee_{r \in [sq]_{\phi}} l_t(r)$$

$$= \bigwedge_{e \in sq} \bigvee_{r \in [s]_{\phi}[q]_{\phi}} l_t(r)$$

$$= \bigwedge_{r \in ij} \bigvee_{ij \subseteq [s]_{\phi}[q]_{\phi}} l_t(r)$$

$$= \bigvee_{i \in [s]_{\phi}j \in [q]_{\phi}} \bigwedge_{r \in ij} l_t(r)$$

$$\ge \bigvee_{i \in [s]_{\phi}j \in [q]_{\phi}} l_t(j)$$

$$\ge \bigvee_{j \in [q]_{\phi}} l_t(j)$$

$$= \overline{\phi}(l_t)(q)$$

Similarly we can prove for

 $\bigwedge_{e \in sq} \overline{\phi}(l_f)(e) \geq \overline{\phi}(l_f)(q) \text{ and } \bigwedge_{e \in sq} \overline{\phi}(l_i)(e) \leq \overline{\phi}(l_i)(q)$ Consequently we can prove for lower approximation

$$\begin{split} & \bigwedge_{e \in s+q} \underline{\phi}(l_t)(e) \geq \underline{\phi}(l_t)(s) \wedge \underline{\phi}(l_t)(q) \\ & \bigwedge_{e \in s+q} \underline{\phi}(l_i)(e) \geq \frac{1}{2} \left[ \underline{\phi}(l_i)(s) + \underline{\phi}(l_i)(q) \right] \\ & \bigwedge_{e \in s+q} \underline{\phi}(l_f)(e) \leq \underline{\phi}(l_f)(s) \wedge \underline{\phi}(l_f)(q) \\ & \text{and} \\ & \bigwedge_{e \in sq} \underline{\phi}(l_t)(e) \geq \underline{\phi}(l_t)(q) \\ & \bigwedge_{e \in sq} \underline{\phi}(l_f)(e) \geq \underline{\phi}(l_f)(q) \\ & \bigwedge_{e \in sq} \underline{\phi}(l_i)(e) \leq \underline{\phi}(l_i)(q) \\ & \text{Hence } l \text{ is a } RINLHI \text{ of } W. \end{split}$$

#### 5. Conclusions

In this paper we introduce the notion of rough interval neutrosophic hyperideals in semihyperrings. Some basic properties of this ideals are studied. We apply rough interval neutrosophic set to some more algebraic structures. Moreover in future we apply rough interval neutrosophic sets to some applications like multi criteria decision making, medical analysis, decision making, gray analysis etc.,

Conflicts of Interest: The authors declare that there is no conflict of interest regarding the publication of the paper.

#### References

- 1. Atanasov, K. T.; Intutionistic fuzzy sets. Fuzzy Sets and Systems, 1986, 20(1), 87-96.
- 2. Corsini, P. ;Prolegomena of Hypergroup Theory, Second edition, Aviani Editore, Italy, 1993.
- Broumi, S.; Smarandache, F.; Dhar, M; Rough neutrosophic sets. Italian Journal of Pure and Applied Mathematics, 2014, 32, 493-502.
- Broumi, S.; Smarandache, F.; Dhar, M; Rough neutrosophic sets. Neutrosophics Sets and System, 2014, 3, 60-66.
- 5. Davvaz, B.; Isomorphism theorems of hyperrings. Indian J. Pure Appl. Math, 2004, 35(3), 321-331.
- 6. Davvaz, B.; Rings derived from semihyperrings. Algebras Groups Geom, 2003, 20, 245-252.
- 7. Dubois, D.; and Prade, H.; Rough fuzzy sets and fuzzy rough set. Int.J.General Syst, 1990, 17(2-3), 191-209.
- Gong, Z.; Sun, B.; Chen, D.; Rough set theory for the interval valued fuzzy information systems. Information Science, 2008, 178, 1968-1985.
- 9. Krasner, M.; A class of hyperrings and hyperfields. Internat. J. Math. Math. Sci, 1983, 6(2), 307-312.
- 10. Mandal, D.; Neutrosophic hyperideals of semihyperrings. Neutrosophic Sets and Systems, 2016, 12, 105-113.
- 11. Pawlak, Z.; Rough sets. Int.J.Inform.comput science, 1982, 11, 341-356.
- 12. Smarandache, F.; A Unifying Field in Logics. ProQuest, Ann Arbor, Michigan, USA. 1998, 1-141.
- 13. Florentin Smarandache, New types of Topologies and Neutrosophic Topologies, Neutrosophic Systems with applications,1,(2023),1-3.(Doi: https://doi.org/10.5281/zenodo.8166164)
- 14. Said Broumi; Smarandache, F.; Interval Neutrosophic Rough Set. Journal of new results in science, 2014.
- Runu Dhar, Compactness and Neutrosophic Topological Space via Grills, Neutrosophic Systems with Applications, vol.2, (2023): pp. 1–7. (Doi: https://doi.org/10.5281/zenodo.8179373).
- Sudeep Dey, Gautam Chandra Ray, Separation Axioms in Neutrosophic Topological Spaces, Neutrosophic Systems with Applications, vol.2, (2023): pp. 38–54. (Doi: https://doi.org/10.5281/zenodo.8195851)
- Subha, V. S.; Thillaigovindan, N.; Dhanalakshmi .P; Interval valued rough fuzzy ideals in semigroups. Journal of Emerging Technologies and Innovative Research, 2019, 6(3), 271-276.
- Subha, V. S.; Thillaigovindan, N.; Dhanalakshmi, P.; Interval valued rough fuzzy ideals in semigroups. Journal of Emerging Technologies and Innovative Research, 2019, 6(3), 271-276
- Subha, V. S.; Thillaigovindan, N.; Chinnadurai, V.; Dhanalakshmi, P.;Characterizations of semigroups by interval valued rough fuzzy weak bi-ideals. International Journal of Research and Analytical Reviews, 2019, 6(2), 775-783.
- Subha, V. S.; Thillaigovindan, N.; Dhanalakshmi, P.; On interval valued rough fuzzy prime bi-ideals of semigroups. AIP Conference Proceedings, 2019, 2177.
- P. Dhanalakshmi, Approximations of interval neutrosophic hyperideals in semi-hyper-rings

- Subha, V. S.; Thillaigovindan, N.; Chinnadurai, V.; Dhanalakshmi, P.; Rough fuzzy bi-interiorideal (biquasi-ideal) of semigroup. Malaya Journal of Mathematik, 2020, 8(8), 517-521.
- 22. Subha, V. S.; Chinnadurai, V.; Dhanalakshmi, P.; Characterization of semigroup by rough interval pythagorean fuzzy set. TWMS Journal of Applied and Engineering Mathematics, 12(2)(2022),505-515.
- 23. Subha, V. S.; Chinnadurai, V.; Dhanalakshmi, P.; Rough approximations of interval rough fuzzy ideals in gamma-semigroups. Annals of Communications in Mathematics, 2020, 3(4), 326-332.
- 24. Zadeh, L. A.; Fuzzy sets. Information Control, 1965, 8(3), 338-353.
- Zadeh, L. A.; The Concept of a Linguistic variable and its application to approximation reasoning. Information Science, 1975, 8, 199-249.

Received: June 1, 2023. Accepted: Oct 1, 2023